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Weve Studied the fu.nc,éion f(x>"‘ Xq'l'lxs*l in
Severad examples and now have enm:jk informadion

to Sketch ils jrap\'\l.
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From +he table we See  +eat } has a Locol

)

Mmin at (3,f(3)> = (3,‘516> and 3nf/ecéion Points
al (0,f)=(0,1) and (2,f(2)) = (2,-15). e plot

these Foin'l:s and connect +them us;rg the "ShaPe." roul.
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(revecal S+rmle3j'- To sketeh y= £(x), find

(1) domain of f

(z) vesticad 0\53,4940465 (auj i foaite limits ?)
horizontal Ox.sjvvsp‘}ﬂes <cLecl< (imits as X—>i°°)

(3)  Foinds where fx)z0 or {00 DNE

() Poinks where f(x)=0 or fﬂ(X) DNE .

(5) Test all intervals for increase /deccrense ond

C,oncﬁv“{'j. Lisl: [oca,( exirema and in//ecfl’on FOMLS'




(G) Plo} ol m-}e,reshnj Foini'_s and connect them

\LS\"\J the fo“ow.‘r\J Chast :
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& Sketch the jrapln of f(x)= f’,-x
M (1) Domao.in = R

(2) Verticol aswmp’ro-les? Ncme‘ Since domain = |R_.
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(3) {():0 o DNE?
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fxy=-axe™ =0 = x=o (CP)

exists evcrdwherc

(4) 40 :0 o DNE!

x? *

Fr'ed = -2e™ + xte” —g(l-zxz)ej

B S
exists evcrduherc

f'ed=0 = 1-ax*=0
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(6) The sketch (N

Ex: SKetch Yhe Jrarl'\ o)f Jc(x)= x: Si\/cn Hhat
7-x

/ _ SX n _ 8(3x2+q>
Jeo oo o )= Ty

2
Selution: (1) fx) = XX is undefined when Y-x* =0

2

)

hence when X=X, Tl«us, domain = {X6R3 X#i:{}

() Vertical Asymplotes?
J

2 2
- X = _ X  blous wp }o t0 as X— 2,
J((X) Y -x? (z-xN2+x) P

= VAs ot X=-2 & x=2.
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Xx=to0 Y-X* ~ x-too XZ(%-l) T oo0-1 -1.

=7 HA ot 3=-‘]..

(3 f’(x) =0 oc DNEY

=0 when  x=0  (eritieat pt)
j:’(x\ - BX /
(L{’X) %}

whea X=*%tQ

(1) f0:0 or DNET

zo Never  pumerator > O,

f"(x) = 8(3x%+4)

7_3
(4-x% $> when  X=t2.
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From 4he Lable | there s o focal min ab (o,0) ;

ho inflec-l-:om Po;n{-_s (Sn‘nce ]C(iz) are undc,cmcd>

(G) The SKetch
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